M285K - course #22



U2 ook & amald by

)Gl o= 250 YR>x, © —&ly 0|7
gdi‘ ] M“’f | —&(32{"5[ 1o “;éf >/J é% ]
W"m‘y X

Thegore ( Lorge - ol [P.).

rf—] Ae %MB dholiomar agmelin M ik @_ﬁfaj £ 7 € w.{3‘“4]J

b Ut e Pl Gl

Y heCoarileny, § el EY) dife
Pala = Oh,

% \%7<P§éo:









@ (0‘> (DWWW— 37’:5[{(9:%), Ny S ‘(/'f(’ﬁ&[xcp).




Co Wi, €D . Is]” € (B j M:
Balxo)

(8) Awme 95>“9Zs/xa>'
Lre gemn < o [ (£ ek x










Lo 5 - duolly Jo go fprom 7 & T f =L - J
Doty B (& Blerl o b T ol o R

ol yRe’Y: 7/7;'/:.&1[.0"@\

e 6 _
Co Ve L )%
& (%60 M ) ‘6%? . (12 [M)
= W/L &L& & /35[5[2)%’42'
s
[]

~7 4 ‘/)_‘ [P cn,,,,,pnjh\



|hepom- Oy aw[-wv-]/,

——

7€ C?UKJ{ “om))”}/ “j) (e cl*(37 LZ/IIZJJJ) AJ,;&Q@
...v,gf% P ;_[fZ"//

/wa V74 09 < 6o Vg>01
‘LE V“'] ﬂ[,'”((P\J , [41n)) fLVMf " W ”Lp[ﬂld/ L‘“gﬁ’) )
V% V)‘ sz' }l
LMM L Jgf@‘ ’) ]

(1

M. Uge W/oyﬁmﬂa[f%? + OC?A?Z? ¢ ol (o
OQZ;A_’L VQD(WQQC{?\")I Jome. Wa O = Vc@%%ﬁ









